Comparison of learning difficulties between English & Algilez 01 February 2015
How easy is it to learn Algilez compared with English, for other language speakers?

Much of the information in these notes is taken from Learner English, edited by Michael Swan and Bernard
Smith.

The purpose of Algilez is to provide an easily learnt alternative to English as an international language. In
order to quantify the differences between Algilez and English, I thought it would be useful to list some of
the main issues that learners have with learning English and show how Algilez has overcome or reduced
those issues.

The notes start with a comparison of the phonology (the sounds of the languages) and then continue through
the various grammatical and other issues.

The languages (and language groups) that are being compared cover a significant number of the world’s
population (about 95%).

The languages and language groups compared are:-

1. Arabic (including other Semitic languages, Ethiopian & Hebrew etc)
2. Chinese (all types including Mandarin & Cantonese)
3. Dravidian (including Tamil etc)

4. Dutch

5. Farsi (including any similar Afghan languages)

6. French

7. German

8. Greek

9. Italian

10. Japanese

11. Korean

12. Malaysian / Indonesian

13. Polish

14. Portuguese (Portugal and Brazil etc)

15. Russian

16. South Asian languages (including Hindi, Urdu, Bengali, Panjabi, Murathi, Bihari etc)
17. Scandinavian languages

18. Spanish

19. Swabhili (including Bantu languages)

20. Thai

21. Turkish (including central Asian languages)

22. West African languages

23. Vietnamese

‘Language Groups’ includes any similar or related languages. Even if some of the languages in a group
might not be mutually intelligible, there are usually sufficient similarities in the phonology (the sounds), the
grammar and the vocabulary to mean that learners of English will encounter similar problems.

Algilez has been designed to avoid or minimise those problems.
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1. Phonology - which languages have different sounds when compared to English?
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46 27 | Ar | Ch | Dr | Du | Fa | Fr | Ge | Gr | It | Ja | Ko | MI| Po | Pt | Ru|[SA | Sc | Sp |Sw | Th | Tu |[WA| Vi
1 | 2 [ 3] 4[5]6 | 7[8 ]9 1011 |12]13]14][15]16]17[18 19 [20 |21 ]22]23
Number of phonemes in each language which are the same as English & Algilez phonemes
Eng.|/46 |27 | 16 | 21 |24 |27 |23 |30 |26 |26 |16 | 11 |27 |22 |30 |36 |31 |25|21|23|30]17 18
Alg. /27120 |14 |18 |19 2520 |17 |19 (23 |16 |10 |21 |22 |20 |22 |19 |19 | 15|22 |22 |16 14
Percentage of phonemes in each language which are the same as English & Algilez phonemes
Eng.| % | 59| 35|46 | 52|59 |50 |65|57|57|35]24|59|48|65|78|67|54]|46|50]|65]|37 39
Alg. | % |74 |52]|67|70[93|74|63|70|85|59|37 |78 |81 |74|81|70]|70]| 56|81 |81 |59 52
Number of phonemes that learners from each language need to learn for English & Algilez
Eng.|/46| 19 30| 25|22 19|23] 16| 20| 20| 30| 35| 19|24 | 16 |10 |15 | 21|25 | 23|16 |29 28
Alg. |27 7 1319 ] 8] 2] 7|10 8] 4] 11| 17] 6/5 | 7|5 |8 8 |12 | 5|5 |11 13

Key: .English Language phoneme (or very similar phoneme) occurs in this language.

[JPhoneme does not occur in this language. (For West African languages there was insufficient data).

() Phonemes in brackets are not part of the Algilez language but are provided in the alphabet.
See below for notes on this table.
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Summary of Phonology table results
Vowels: The main points noticeable from the above table are:

e There is a considerable variation in vowels used in different languages.

e A few vowels appear to be more common than others e.g. /i/, /e/, la:/, [2:/, lu:l.

e English language diphthongs are not common in other languages.
Algilez uses 7 of the 12 common English vowels. This results in the omission of /ae/, /3/, /a/. /u/ and /1/,.
One of the reasons for this choice is that many people from other language backgrounds find /ae/, /3/ and /a/
similar to each other and /u/ is similar to /o:/ and hence difficult to differentiate between them.
Diphthongs are not used in Algilez.
Consonants: English language consonants /©/, /3/ and /3/ are rare in other languages and not used in
Algilez. Although /n/ is more common in other languages, it is also not used in Algilez.
Note however that proper names, including the names of countries are pronounced as in native languages.
For example, the word for China is dJongoA. Although the pronunciation may not be immediately obvious,
n is clearly a variation of n. Hence using the normal Algilez pronunciation as a guide will help the speaker
find a good approximation to the correct pronunciation, which hopefully should then not be difficult to learn.

How to interpret the phonology table above

English has 46 phonemes and Algilez 27.

Looking along the summary rows at the bottom, we can see how many English and Algilez phonemes are
common to each of the other languages. In the next two rows, the percentage of phonemes common to
English & Algilez are shown. The last two rows show the additional phonemes that each language speaker
would need to learn.

E.g. Arabic uses 27 phonemes out of the English 46 (59%), thus requiring Arabic speakers to learn how to
pronounce another 19 phonemes. Arabic uses 20 phonemes out of the Algilez 27 (74%), thus requiring
Arabic speakers to learn just another 7 phonemes.

Chinese uses 16 out of the English 46 (35%), requiring another 30 to be learnt. Chinese uses 14 out of
Algilez 27 (52%), requiring just 13 to be learnt, etc.

(Note that any additional phonemes required to be learnt for Algilez are identical to English ones).

As one might expect, those languages that are most remote from English (geographically as well as
linguistically) are those which have the least number of common phonemes (Chinese 16, Japanese 16 and
Korean 11).

However, there are still one or two surprises — Thai has 30 phonemes in common with English, the same as
German and Portuguese. Also French (23) and Dutch (24) both have less than Arabic (27)!
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In the tables below:-

Denotes language speakers who are likely to have difficulty with a particular aspect of English.
major difficulty with understanding, learning or production

0 some difficulty in understanding, learning or production

[0  not a major issue of understanding but may need effort in learning or cause errors in production
No particular problems of understanding and production (but learning still required)

O  Insufficient data

The assessments below are obviously extremely generalised!

2. Influence of spelling on pronunciation
This is going to be an issue with all language speakers (even with some English speakers). There are few
languages which has such a difference between the spelling and pronunciation as English.
For those language speakers whose own languages use the Latin alphabet in a regular, predictable way for
spelling, English spelling is confusing. It results in them having to learn new rules for pronunciation of
previously known alphabet letters.
For those speakers who use different alphabets, the learning burden is increased by having to learn both a
new alphabet and all the inconsistent spelling and pronunciation rules of English.
Ar |Ch |Dr |Du|Fa | Fr |Ge |Gr | It Ja Ko MI Po | Pt |[Ru|SA | Sc |Sp |Sw | Th |Tu |WA| Vi
123 [4|/5]|6]7 9 11 1314|1516 |17 |18 |19 |20 |21 |22 |23
com— - . — -
Alg

Algilez uses one phoneme per alphabet letter and is totally consistent.

3. Consonant Clusters
For speakers of languages that do not have consonant clusters, this may cause problems of pronunciation,
articularly when there are 3 or more consonants together (E. g. street, spray, bursts, crisps etc. )
Ar |Ch |Dr |Du|Fa | Fr | Ge |Gr| It Ko MI|Po| Pt | Ru|SA [Sc [Sp|Sw|Th|T A
1234 /5/6]7 8|9 11 1314|1516 |17 | 18 20

o ™

Algilez contains fewer consonant clusters compared with English, with only 2 joined consonants allowed in
root words. (Compound words may contain larger clusters but still less than English).

4. Stress patterns

Language speakers likely to have difficulty with English language stress patterns.
r |Ch|Dr |Du Fr |Ge |Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc |Sp [Sw|Th|Tu WA Vi
2 4 6 /78910 12 14 1516 |17 |18 | 19|20

- B gy e B e e

Apart from the occasional need to stress the key root word in a compound word that might otherwise be
ambiguous, Algilez has no recommended stress pattern. (However this may evolve over time.)

5. Intonation and rhythm
This is to do with the level and range of the tones used in languages for normal conversation. In English,
tones are used for a variety of purposes, including turning statements into questions and to assist with stress.
The main problem is failure by learners to notice or understand native-speaker tones, which in turn may
result in the listener missing the meaning of what is being said.
Ar |Ch |Dr |Du|Fa |Fr |Ge|Gr| It |Ja |[Ko|MI|Po | Pt |Ru|SA | Sc |Sp |Sw|Th|Tu |WA| Vi
12 /3|4 (5]/6|7[8]9 1011 ]12]13[14[15/16 |17 |18[19]2021 22|23
e = =
Alg

Algilez has no recommended intonation pattern. (However this may evolve over time.)




6. Juncture and assimilation
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In some languages, including English, the last phoneme of a word may be affected by the first phoneme of
the following word. (Native speakers of English are usually unaware of this). This may cause both learning
and understanding problems.
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Algilez has no recommended juncture and assimilation rules, although there may be occasional similarities
to English.

7. Writing, spelling and punctuation
The learning of any new language requires the learning of everything associated with the written language,
including the alphabet, spelling rules and punctuation. For languages which do not use the Latin alphabet
then there is clearly a major workload in learning English. Even those speakers of other languages which

use the Latin alphabet still need to learn the inconsistencies of English spelling (and a different set of
unctuation rules).
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Algilez uses a modified version of the Latin alphabet (with new characters for the 7 vowels and 2 modified
consonants) but with standard English punctuation rules. There are no character changes for capital letters
(i.e. upper case letters are simply larger, bolder versions of the lower case letters). Although there is still a
learning burden for the Algilez alphabet (both for non-users and users of the Latin alphabet), it is entirely
consistent in use, without the considerable difficulties of English spelling.

8. Interrogative structures
These occur in a variety of forms in languages. A rising tone is very common (including English), a reversal
of noun and verb (‘Like you beer?’), specific question words (who, where, what etc), auxiliary verbs (‘Do
you like beer’ - used in English), general question words (‘Ma’ in Chinese, ‘Ka’ in Japanese).
The English auxiliary verb ‘do/does/did’ etc can cause difficulties for learners when forming questions.
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Algilez uses a general question word (Ke) at the beginning of all interrogative sentences.

9. Tag questions
These occur frequently in English (I s n ' It it? iDb € $ n ' Does he® Wo n ’ t etc. Aley?can be
both positive and negative questions. Both the form of the question and the correct answer can be a problem

for learners of English.
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In Algilez, the preferred method is to use a standard positive question (K 1L L1kez fef, - Does he like fish?),
which avoids the need for a tag question. If a tag question is used (AL Lhkez fey. K — He likes fish.
Query?) then it is better with a positive question. This avoids the confusion of both a negative question and
the meaning of a yes or no answer.

10. Negative structures
Many language put a simple negative (equivalent to ‘no’ or ‘not’) adjacent to the verb. The English form of
does

do

not

n ot ,etc ¢ar chude difficalty and cdnfusdos for’ledrners. W 0 n

t
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Ar |Ch|Dr |Du|Fa | Fr |Ge|Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu [WA| Vi
1/2[(3/4|5|6|7 8|9 (10111213 |14 15|16 |17 |18 |19|20 21|22 |23
- =
Alg
Algilez uses a simple negative word (/70) prior to the verb.
11. Auxiliaries
The English language general perfective aspect-markers, has/have (Has he gone?, They have gone) and
do/does (Do you like beer? Does he like beer?) can cause some difficulty for learners.
Ar |Ch|Dr |Du|Fa |Fr |Ge |Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc |Sp [Sw|Th|Tu WA| Vi
1234|567 |89 10|11 12|13 |/14|15|16 |17 181920 22 123

Eng
Alg

H

-

ﬁ

The Algilez system for perfective uses standard tense prefixes that are much simpler and uniform.

12. Tense, time and aspect
Even for speakers of related European languages, English tense, time and aspect can cause difficulties. For
speakers of languages which do not have these features, such as Chinese, English can present a big problem
for learners.

Ar |Ch|Dr |Du|Fa | Fr |Ge |Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu WA Vi
1123|4567 |89 10|11 12|13 |14|15|16 |17 1819|2021 |22 |23
o - | —
Alg

Algilez has a simplified tense structure which should make things easier. For beginners, the alternative ‘no
tense’ forms (although not recommended, due to being less compact) can be an acceptable alternative which

are not ambiguous.

E.g. Me qoz u skul - I went to school: Dzde me g1z u skul - Yesterday I go to school.

13. Conditionals
English conditionals (with the confusion of zero, first, second and third conditionals) plus tense changes,
cause difficulties for learners.

Ar |Ch|Dr |Du|Fa |Fr |Ge|Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu WA Vi
1/2[(3/4|5|6|7 8|9 (1011|1213 |14 15|16 |17 |18|19|20 |21 |22 |23
S —
Alg

Algilez has only two conditional states — Realistic (for events/situations which did or could happen) or
hypothetical (for events/situations that did not or cannot happen). The simplified tense structures of Algilez
also reduces confusion and learning problems.

14. Modal verbs (must, can, should etc)
English language modal verbs have evolved to be used in a variety of situations (He must come now. It

must be hot in there.) This can cause English language learners to misuse modal verbs.
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Algilez has a rigid pattern of modal verbs with recommended uses (e.g. can, must, ought to, able to etc).

15. Phrasal (multi-word) verbs
English uses many multi-word verbs (look for, go in, pick up etc). Other languages tend to use single word
verbs which has the same meaning (seek, enter, raise etc).
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Algilez generally uses single word verbs (s1¢42 — seek, look for; NGiz — enter, go in; Up4Z — raise, pick up).
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16. Passives
The difficulty of learning English language passives usually relates to how similar the passive structure is in
the original language.

Ar |Ch|Dr |Du|Fa | Fr |Ge|Gr| It Ko |MI| Po | Pt |Ru|SA [ Sc [Sp |Sw |Th|Tu WA Vi

1 /23 /4[5|]6|7 /8|9 11 |12 |13 |14 |15 |16 |17 |18 19|20 21 |22 |23

Ja

10
B _
Alg

Algilez uses a simple affix to denote the passive.

17. Non-finite forms
English has a number of grammatical forms that are not common in other languages, including:-
e frequent omission of ‘that’ in clauses after verbs (e.g. ‘he wants me to go’ instead of ‘he wants that 1
go’)
e use of a gerund instead of infinitive form (e.g. I like going instead of I like to go)
e forms such as ‘Realising the danger, he turned back’

Ar |Ch|Dr |[Du|Fa | Fr |Ge |Gr| It | Ja | Ko|MI| Po | Pt |Ru[SA | Sc |Sp |Sw|Th|Tu WA| Vi

1 /2 (3 /4[5|]6|7|8[9 (1011 12|13 |14 15|16 |17 |18|19[20 |21 2223

i o

With many of the above forms, there are alternative ways in Algilez of saying the sentence, still maintaining
the same meaning, but in a way more in common with many other languages.

18. Word order
This varies enormously in different languages, even in those European languages from which English has
evolved (i.e. German and French).

Ar |Ch|Dr [Du|Fa | Fr |Ge |Gr| It |Ja | Ko|MI| Po | Pt |Ru[SA | Sc |Sp |Sw|Th|Tu WA| Vi

11234 /5|67 89 1011|1213 /14[15|16 |17 181920 21|22 |23

Eng
Alg

Algilez has a recommended word order (which can be changed, subject to the appropriate prepositions).
Even the sentences using one of the modified word orders still follow a logical pattern.

19. Construction with it and there

This is a very common form in English (‘I t 1 s expected that he wil)l
Some other languages use a similar form, most do not. Because of its unfamiliarity it can cause difficulties
for learners.

Pt SA | Sc | Sp |Sw | Th | Tu |WA| Vi
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Alg

Algilez generally avoids the ‘it’ and ‘there’ forms and modifies the sentence to maintain the same meaning:-
(Neciz LA bez pekA — His coming is expected. Om per bez he — Many people are here).

20. Articles
Not all languages have articles (the and @). Many of those that do have articles do not use them in certain
circumstances e.g. before professions etc (e.g. he is teacher). The learning of when to use or not use articles
in English can be an unnecessary burden on learners. Also, many languages that do have articles also have a
gender system, masculine, feminine, neuter which may be carried over into English — ‘The language, she is

difficult’ etc.

Ar |Ch|Dr |Du|Fa |Fr |Ge|Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu [WA| Vi

1/2[(3/4[5|/6|7 |89 (1011121314 15|16 |17 |18 |19[20 |21 22|23

F o = ——— — -

Algilez has no articles.

c

(0]
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21. Adjectives and adverbs
English uses different forms for adjectives and adverbs (The careful girl. She drove carefully). Also the
separation of adverbs from their verbs often causes some difficulties (She drove around to her sister

carefully).
Ar |Ch|Dr |Du|Fa | Fr |Ge |Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu WA Vi
1123|4567 |89 1011|1213 |14|15|16 |17 1819|2021 |22 |23

Eng
Alg

H

H

Algilez uses the same form for adjectives and adverbs. Both follow the headword (i.e. the noun or verb that
they are describing).

22. Quantifiers and determiners

English uses countable and uncountable nouns e.g. many apples, an apple; many clothes, one item of
clothing ( not one clothe) 3 cattle (but not I cattle). With those are a set of quantifiers and determiners —
much, many, some, few, a few, each, every, all etc. This can cause additional learning difficulties to
speakers of other languages which do not have those features. In addition, English has a number of singular
words which are quantified in pairs e.g. a pair of trousers, a pair of scissors etc.

Ar |Ch |Dr |[Du|Fa | Fr |Ge |Gr| It |Ja |Ko|MI| Po | Pt |Ru[SA | Sc |Sp |Sw|Th|Tu WA| Vi

1234|567 8|9 |10/11 12|13 |14 |15|16 |17 18 19]20|21 |22 23
Eng H H:H:
Alg

Algilez uses plural forms instead of uncountable nouns. Om means a large quantity of something. Words

such as trousers, scissors etc are singular.

23. Countability and number

Similar to Quantifiers and Determiners above, Countability and Number can cause difficulties in English.
E.g. ‘The police has arrested him.” Although mainly an issue of correctness rather than of ambiguity,
getting it right still adds to the learning burden.
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20 | 21

Algilez has only one form for verbs (not different forms for singular or plural).

24. Interrogative and Relative pronouns
English requires specific relative pronouns in specific cases (who, which, that, what etc). Although not a
serious issue with regard to being understood, learners have to work harder to learn the correct form and
which word to use in each of the circumstances.
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Algilez has two relative pronouns ‘fA’, following the word referred to, which can be translated as who,
which, that or what as appropriate. ‘¢A’ is used when the previous clause (rather than just the previous
word) is referred to. Also we can use Av A (Whom, of whose) and Ab[A (about which, about whom).
Algilez, in common with many languages, always uses ‘that’ (fA/¢A) to precede relative clauses ‘fef fA mi
utridoz ozde - The fish that we bought yesterday’.

25. Reflexive pronouns
Differences between English and other languages can cause learning difficulties.
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Algilez uses a much simpler and more regular format than English.
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26. Prepositions
Many languages have their own idiomatic system of prepositions ‘on the party’ (instead of ‘at the party’),
‘good in games’ (instead of ‘good at games’). English is no different and would require ‘in the garden’
where other languages might use ‘at the garden’. English also uses ‘preposition-stranding’ (I turned it off)
which can be difficult for learners

Ar |Ch|Dr |Du|Fa |Fr |Ge |Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu WA Vi

1123456789 1011|1213 /14[15|16 |17 181920 21|22 |23

5 —

Algilez uses literal and logical prepositions e.g. only using ‘in’ (in) when someone or something is literally
inside something, otherwise using ‘at’ (€). Also Algilez uses Ab (meaning about or concerning) when in or
€ are inappropriate. The wider use of verbs in Algilez also reduces the need for prepositions (He is
interested in cars — AL Adtresiz kar1). Algilez does not use preposition-stranding.

27. Vocabulary
There are many words from a common Germanic or Romance origin in English, which makes learning it
easier for speakers of European languages. Speakers of other languages will naturally have more difficulty.

Ar |Ch|Dr |Du|Fa | Fr |Ge|Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu [WA| Vi

1123|4567 89 1011|1213 /14[15|16 |17 18192021 |22 |23

Eng ] |

Alg| | [ |

Algilez uses a vocabulary based on ‘Condensed English’. English words are generally reduced to the most
recognisable core syllable. This should help provide maximum familiarity for those learners who already
have knowledge of English and short word roots to learn, for those who do not. Also Algilez uses a
vocabulary based on common root words where many English words have no common root, which adds to
the learning burden e.g. boy, girl, son, daughter — Juil, Juel, ¢uil, ¢uel.

28. Idiomatic expressions
English (as do most other languages) has many idiomatic expressions, i.e. where the words and phrases are
not used in their literal sense — e.g. ‘He let me down’, meaning ‘He disappointed me’, not ‘He lowered me on
a rope’! All of the expressions need to be learnt and understood. This tends to be more difficult for those
from non-European cultures and language backgrounds.

Ar |Ch|Dr |Du|Fa | Fr |Ge |Gr| It | Ja |Ko|MI|Po | Pt |Ru|SA | Sc | Sp [Sw|Th|Tu WA Vi

11234 /5|67 89 1011|1213 /14[15|16 |17 181920 21|22 |23
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Algilez is a very logical and literal language and does not have idiomatic expressions.

29. Summary
Comparing the learning difficulties of one language with another is very difficult. The data used has been
taken from a book based on the teaching experience of a number of different authors. Not all of the authors
encountered the same learning difficulties in their students (e.g. reflexive pronouns, compound words etc).
Hence the tables above are not the results of an objective, independent and thorough research project but
simply my own assessment of the main differences that people from different language backgrounds would
have in learning English and Algilez.
In addition, not all of the issues dealt with above are of equal importance. So long as a learner can produce
language which is intelligible, the fact that it might be ungrammatical is less important. However the charts
are intended to show the relative difficulty that students would have (and the time taken) in learning to
speak and write the languages correctly.

The above results still clearly show that Algilez is far easier to learn than English for just about every aspect
of language.
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The tables enable quantitative as well as qualitative comparisons. E.g. the reduced number of phonemes that
are required to be learnt is immediately obvious from the first table. The other tables show that Algilez
either uses simpler grammatical forms than English (which helps reduce the learning difficulty from red or
orange down to yellow) or that irregular and illogical aspects of English are eliminated from Algilez and the
learning burden is immediately reduced to green.

As mentioned earlier, it appears that generally those languages that are most remote linguistically from
English also appear to be those that have most ‘red’, i.e. native speakers of those languages are likely to
have most difficulty in learning English. Sometimes the geographical differences also mean greater cultural
differences as well as linguistic ones, which also appears to add to the difficulties.

Alan Giles
26 May 2014
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